

County Distribution Detail Report through 05/02/2023

Aurora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	881	2,068	44	2,993	\$3,741.25	\$104.73	\$3,636.52	0.70	\$2,545.56
							Entity Tota	al:	\$2,545.56
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,545.56
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,964	11,563	463	14,990	\$18,737.50	\$393.61	\$18,343.89	0.70	\$12,840.72
							Entity Tota	al:	\$12,840.72
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,840.72
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	829	1,331	3	2,163	\$2,703.75	\$60.20	\$2,643.55	0.70	\$1,850.49
							Entity Tota	al:	\$1,850.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,850.49
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,537	4,308	74	5,919	\$7,398.75	\$149.51	\$7,249.24	0.70	\$5,074.47
							Entity Tota	al:	\$5,074.47

Adjustment:

\$0.00

Total Amount:	\$5,074.47

3/2023

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
- /			Lines		•	*	*	Percent	*
3/2023	9,001	23,620	1,699	34,320	\$42,900.00	\$892.99	\$42,007.01	0.70	\$29,404.91
							Entity Tota	ıl:	\$29,404.91
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$29,404.91
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	7,594	28,870	1,127	37,591	\$46,988.75	\$1,022.21	\$45,966.54	0.70	\$32,176.58
	,	-,	,	,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	* **	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, , , , , , , , , , , , , , , , , , ,
							Entity Tota	ıl:	\$32,176.58
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$32,176.58
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
Reporting Feriod	relecon Lines	Wileless Lilles	Lines	Total Lilles	Suicharge	Adminitee	Net Surcharge	Percent	Littly Amount
3/2023	2,108	4,011	58	6,177	\$7,721.25	\$155.95	\$7,565.30	0.70	\$5,295.71
							Entity Tota	d.	\$5,295.71
							-		
							Adjustmen		\$0.00
							Total Amo	unt:	\$5,295.71
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	513	491	2	1,006	\$1,257.50	\$25.24	\$1,232.26	0.70	\$862.58
							Entity Tota	ıl:	\$862.58
							Adjustmen		\$0.00
							Total Amo		\$862.58
Butte							i Otal AMO	unt.	φου∠.36
Dulle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
					<u> </u>	4	4		4

\$246.79

\$11,481.96

0.70

\$8,037.37

7,192

2,062

129

9,383

\$11,728.75

							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$8,037.37
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	653	1,369	19	2,041	\$2,551.25	\$58.34	\$2,492.91	0.70	\$1,745.04
							Entity Tota	al:	\$1,745.04
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,745.04
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,247	5,941	22	8,210	\$10,262.50	\$207.43	\$10,055.07	0.70	\$7,038.55
							Entity Tota	al:	\$7,038.55
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,038.55
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	38	3,147	113	3,298	\$4,122.50	\$82.93	\$4,039.57	0.70	\$2,827.70
							Entity Tota	al:	\$2,827.70
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,827.70
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	534	3,210	79	3,823	\$4,778.75	\$110.97	\$4,667.78	0.70	\$3,267.45
							Entity Tota	al:	\$3,267.45
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,267.45
City of Pierre, Hughe	es Co.								

\$8,037.37

Entity Total:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	3,106	12,213	465	15,784	\$19,730.00	\$411.33	\$19,318.67	0.70	\$13,523.07
							Entity Tota	ıl:	\$13,523.07
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$13,523.07
City of Sioux Falls, L	_incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	3,781	29,637	3,340	36,758	\$45,947.50	\$952.95	\$44,994.55	0.70	\$31,496.19
							Entity Tota	ıl:	\$31,496.19
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$31,496.19
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,057	2,629	105	3,791	\$4,738.75	\$103.25	\$4,635.50	0.70	\$3,244.85
							Entity Tota	ıl:	\$3,244.85
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,244.85
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,642	8,178	299	10,119	\$12,648.75	\$282.34	\$12,366.41	0.70	\$8,656.49
							Entity Tota	ıl:	\$8,656.49
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$8,656.49
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	5,882	21,479	887	28,248	\$35,310.00	\$766.68	\$34,543.32	0.70	\$24,180.32
							Entity Tota	ıl:	\$24,180.32

	Adjustment:	\$0.00
	Total Amount:	\$24,180.32
Corson		

Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	885	1,072	386	2,343	\$2,928.75	\$60.72	\$2,868.03	0.70	\$2,007.62
							Entity Tota	al:	\$2,007.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,007.62
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,817	6,776	105	9,698	\$12,122.50	\$271.52	\$11,850.98	0.70	\$8,295.69
							Entity Tota	al:	\$8,295.69
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,295.69
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	3,985	15,285	639	19,909	\$24,886.25	\$522.24	\$24,364.01	0.70	\$17,054.81
							Entity Tota	al:	\$17,054.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$17,054.81
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,623	3,765	121	5,509	\$6,886.25	\$141.49	\$6,744.76	0.70	\$4,721.33
							Entity Tota	al:	\$4,721.33
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,721.33
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2023	1,321	3,206	112	4,639	\$5,798.75	\$121.36	\$5,677.39	0.70	\$3,974.17
							Entity Tota	al:	\$3,974.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,974.17
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,039	2,259	11	3,309	\$4,136.25	\$86.89	\$4,049.36	0.70	\$2,834.55
							Entity Tota	al:	\$2,834.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,834.55
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,040	3,009	60	4,109	\$5,136.25	\$104.47	\$5,031.78	0.70	\$3,522.25
							Entity Tota	al:	\$3,522.25
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,522.25
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,566	5,162	30	7,758	\$9,697.50	\$199.39	\$9,498.11	0.70	\$6,648.68
							Entity Tota	al:	\$6,648.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,648.68
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	620	1,604	23	2,247	\$2,808.75	\$56.65	\$2,752.10	0.70	\$1,926.47
							Entity Tota	al:	\$1,926.47
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,926.47

^			
	ra	nt	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,562	5,673	246	7,481	\$9,351.25	\$217.63	\$9,133.62	0.70	\$6,393.53
							Entity Tot	al:	\$6,393.53
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,393.53
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,430	3,656	11	5,097	\$6,371.25	\$147.19	\$6,224.06	0.70	\$4,356.84
							Entity Tot	al:	\$4,356.84
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,356.84
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	878	1,413	9	2,300	\$2,875.00	\$58.20	\$2,816.80	0.70	\$1,971.76
							Entity Tot	al:	\$1,971.76
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,971.76
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,238	4,337	138	5,713	\$7,141.25	\$145.52	\$6,995.73	0.70	\$4,897.01
							Entity Tot	al:	\$4,897.01
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,897.01
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	908	2,673	45	3,626	\$4,532.50	\$98.86	\$4,433.64	0.70	\$3,103.55

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,103.55
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	715	3,255	71	4,041	\$5,051.25	\$112.93	\$4,938.32	0.70	\$3,456.82
							Entity Tot	al:	\$3,456.82
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,456.82
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	605	887	5	1,497	\$1,871.25	\$47.94	\$1,823.31	0.70	\$1,276.32
							Entity Tot	al:	\$1,276.32
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,276.32
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	584	3,249	284	4,117	\$5,146.25	\$144.10	\$5,002.15	0.70	\$3,501.51
							Entity Tot	al:	\$3,501.51
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,501.51
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,399	5,508	68	7,975	\$9,968.75	\$202.69	\$9,766.06	0.70	\$6,836.24
							Entity Tot	al:	\$6,836.24
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,836.24

Hyde

Entity Total:

\$3,103.55

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	566	1,089	14	1,669	\$2,086.25	\$42.45	\$2,043.80	0.70	\$1,430.66
							Entity Tota	al:	\$1,430.66
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,430.66
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	536	951	7	1,494	\$1,867.50	\$37.58	\$1,829.92	0.70	\$1,280.94
							Entity Tota	al:	\$1,280.94
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,280.94
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	698	1,491	23	2,212	\$2,765.00	\$55.55	\$2,709.45	0.70	\$1,896.62
							Entity Tota	al:	\$1,896.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,896.62
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	421	736	6	1,163	\$1,453.75	\$30.30	\$1,423.45	0.70	\$996.42
							Entity Tota	al:	\$996.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$996.42
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	848	4,180	357	5,385	\$6,731.25	\$155.71	\$6,575.54	0.70	\$4,602.88
							Entity Tota	al:	\$4,602.88
							Adjustmer	nt:	\$0.00

							Total Amount:		\$4,602.88
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,291	9,456	154	11,901	\$14,876.25	\$330.00	\$14,546.25	0.70	\$10,182.38
							Entity Tota	ıl:	\$10,182.38
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$10,182.38
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	6,537	19,643	507	26,687	\$33,358.75	\$702.46	\$32,656.29	0.70	\$22,859.40
							Entity Tota	ıl:	\$22,859.40
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$22,859.40
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	3,481	26,612	2,223	32,316	\$40,395.00	\$911.64	\$39,483.36	0.70	\$27,638.35
							Entity Tota	ıl:	\$27,638.35
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$27,638.35
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	983	1,909	389	3,281	\$4,101.25	\$87.80	\$4,013.45	0.70	\$2,809.42
							Entity Tota	ıl:	\$2,809.42
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,809.42
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,267	3,139	82	4,488	\$5,610.00	\$126.50	\$5,483.50	0.70	\$3,838.45

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,838.45
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,648	4,491	43	6,182	\$7,727.50	\$158.37	\$7,569.13	0.70	\$5,298.39
							Entity Tota	al:	\$5,298.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,298.39
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	859	1,680	8	2,547	\$3,183.75	\$76.30	\$3,107.45	0.70	\$2,175.22
							Entity Tota	al:	\$2,175.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,175.22
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,758	20,403	274	23,435	\$29,293.75	\$635.60	\$28,658.15	0.70	\$20,060.71
							Entity Tota	al:	\$20,060.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$20,060.71
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	500	783	3	1,286	\$1,607.50	\$32.92	\$1,574.58	0.70	\$1,102.21
							Entity Tota	al:	\$1,102.21
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,102.21
Miner									

Entity Total:

\$3,838.45

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	853	1,753	21	2,627	\$3,283.75	\$68.07	\$3,215.68	0.70	\$2,250.98
							Entity Tota	l:	\$2,250.98
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,250.98
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	33,197	166,380	8,245	207,822	\$259,777.50	\$5,668.53	\$254,108.97	0.70	\$177,876.28
							Entity Tota	l:	\$177,876.28
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$177,876.28
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	990	5,036	184	6,210	\$7,762.50	\$171.35	\$7,591.15	0.70	\$5,313.81
							Entity Tota	l:	\$5,313.81
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,313.81
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	21,414	92,229	4,134	117,777	\$147,221.25	\$3,155.44	\$144,065.81	0.70	\$100,846.07
							Entity Tota	d:	\$100,846.07
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$100,846.07
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,542	2,457	6	4,005	\$5,006.25	\$111.11	\$4,895.14	0.70	\$3,426.60
							Entity Tota	l:	\$3,426.60

Adjustment:	\$0.00
Total Amount:	\$3,426.60

Potter							1 0 000 7 11110		4 0,0.00
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	916	2,037	12	2,965	\$3,706.25	\$74.59	\$3,631.66	0.70	\$2,542.16
							Entity Tota	al:	\$2,542.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,542.16
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,844	5,467	24	8,335	\$10,418.75	\$233.95	\$10,184.80	0.70	\$7,129.36
							Entity Tota	al:	\$7,129.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,129.36
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	678	1,906	24	2,608	\$3,260.00	\$66.04	\$3,193.96	0.70	\$2,235.77
							Entity Tota	al:	\$2,235.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,235.77
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,536	4,852	140	6,528	\$8,160.00	\$167.93	\$7,992.07	0.70	\$5,594.45
							Entity Tota	al:	\$5,594.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,594.45
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2023	629	2,371	427	3,427	\$4,283.75	\$89.62	\$4,194.13	0.70	\$2,935.89
							Entity Tota	al:	\$2,935.89
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,935.89
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	525	1,270	6	1,801	\$2,251.25	\$45.06	\$2,206.19	0.70	\$1,544.33
							Entity Tota	al:	\$1,544.33
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,544.33
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	0	143	5	148	\$185.00	\$14.52	\$170.48	0.70	\$119.34
							Entity Tota	al:	\$119.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$119.34
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,917	4,162	95	6,174	\$7,717.50	\$158.18	\$7,559.32	0.70	\$5,291.52
							Entity Tota	al:	\$5,291.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,291.52
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,826	6,848	183	8,857	\$11,071.25	\$226.44	\$10,844.81	0.70	\$7,591.37
							Entity Tota	al:	\$7,591.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,591.37

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	2,168	11,800	773	14,741	\$18,426.25	\$451.58	\$17,974.67	0.70	\$12,582.27
							Entity Tota	ıl:	\$12,582.27
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$12,582.27
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	1,532	3,785	506	5,823	\$7,278.75	\$153.70	\$7,125.05	0.70	\$4,987.54
							Entity Tota	ıl:	\$4,987.54
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$4,987.54
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2023	4,287	18,014	405	22,706	\$28,382.50	\$605.23	\$27,777.27	0.70	\$19,444.09
							Entity Tota	ıl:	\$19,444.09
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$19,444.09
TOTALS	172,891	671,119	30,572	874,582	\$1,093,227.50	\$23,611.76	\$1,069,615.74		